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: 

(i) 

(ii) 24 : 

(iii)

(iv) (6 + 18) = 24 3 
(6 + 11) = 17 

(v) 

(vi) : 30 :

 (a) 6  

(b) 

(c) 

(d) /  

(vii) : 30 : 

 (a) 18  

(b) 11 

(c) 

(d) /   

IÊS> H$  $  

(dñVw{ZîR> àíZ)  (30 A§H$)

1. amoµOJma H$m¡eb na {XE JE 6 àíZm| _| go {H$Ýht 4 àíZm| Ho$ CÎma Xr{OE &  4 1=4

(i) n`m©daUr` e{º$`m| Ho$ Abmdm ___________ H$mo ì`{º$Ëd {ZYm©aU H$aZo H$m H$maU 
nm`m J`m h¡ &  

 (a) ^mdZm   (b) X`mbwVm  
 (c) AYrZVm ({dZ_«Vm) (d) AmZwd§{eH$Vm  
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General Instructions : 

(i) Please read the instructions carefully. 

(ii) This question paper consists of 24 questions in two Sections : Section A 

and Section B.  

(iii) Section A has Objective type questions whereas Section B contains 

Subjective type questions.  

(iv) Out of the given (6 + 18) = 24 questions, a candidate has to answer 

(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.  

(v) All questions of a particular section must be attempted in the correct 

order. 

(vi) Section A  : Objective Type Questions (30 marks) :  

(a) This section has 6 questions.  

(b) There is no negative marking.  

(c) Do as per the instructions given.  

(d) Marks allotted are mentioned against each question/part.  

(vii) Section B : Subjective Type Questions (30 marks) :  

(a) This section has 18 questions.  

(b) A candidate has to do 11 questions.  

(c) Do as per the instructions given.  

(d) Marks allotted are mentioned against each question/part.  

Section A 

                                             (Objective Type Questions)                       (30 Marks)

1. Answer any 4 questions out of the given 6 questions on employability 
skills.  4 1=4

(i) __________ has been found to be determining the personality apart 
from environmental forces.   

 (a) Emotion  (b) Kindness  

 (c) Submissiveness (d) Heredity  
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(ii) EH$ ì`{º$Ëd {dH$ma Ho$ àH$ma H$m Zm_ ~VmBE Omo gm_m{OH$ gå~ÝYm| _| é{M H$s 
H$_r, Xÿa, AbJ d CXmgrZ hmoZo H$s {deofVm {XImVm h¡ &   

 (a) Edm°̀ S>¡ÝQ> (b) pñH$µOm°BS> 
 (c) EopÝQ>gmo{e`b (d) n¡amZm°`S> 
(iii) S>oQ>m H$mo {\$ëQ>a H$aZo _| gm°{Q>ªJ, gob H$s loUr H$mo nwZì ©̀dpñWV H$aVm h¡, bo{H$Z 

{\$ëQ>[äJ Ho$db AñWm`r ê$n go ___________ H$mo Nw>nmVm h¡ &   
 (a) Adm§{N>V n§{º$`m±/H$m°båg 
 (b) Am°Q>mo {\$ëQ>a 
 (c) \$m°_y©bm ~ma 
 (d) EbmBZ_|Q> 
(iv) AmonZAm°{\$g Båàog {dÝS>mo _| BpÝS>{dOwAb ñbmBS²>g H$mo ~ZmZo `m g§emo{YV H$aZo 

dmbo _w»` dH©$ E[a`m H$mo ___________ H$hVo h¢ &   
 (a) àoO|Q>oeZ (b) dH©$~wH$ 
 (c) dH©$ ßbog (d) Zo_  

(v) {H$gr ^r {XE JE n[aÑí` _| Eogo ì`mnmar bmoJm| H$mo, Omo ì`mnma H$s g§^mdZmAm| H$s 
CnbãYVm H$mo nhMmZ H$a Ahgmg H$a boVo h¢, CÝho§ ___________ H$hVo h¢ & 

(vi) EH$ ì`{º$ Omo ì`dgm` Ho$ Adgam| H$s ImoO H$aVm h¡ {OgH$m g_mO na 
 ___________ H$hbmVm h¡ &   

 (a) AmB©.Q>r. CÚ_r 
 (b) VH$ZrH$s CÚ_r 
 (c) Am¡Úmo{JH$ CÚ_r 
 (d) gm_m{OH$ CÚ_r 

2. {XE JE 7 àíZm| _| go {H$Ýht 5 àíZm| Ho$ CÎma Xr{OE &  5 1=5

(i) nmda H$mo (Bbo >H$ _moQ>a, S>rOb `m J¡gmobrZ B§OZ, Am{X Ho$ à`moJ go) àoeamBµÁS> 
hdm Ho$ ñQ>moa Ho$ ê$n _|, nmoQ>opÝe`b EZOu _| n[ad{V©V H$aZo dmbr _erZ H$mo 
___________ H$hVo h¢ &   

(ii) EH$ àH$ma H$m EÝQ>rH$ E`a H$åàoga, Omo àoeamBµÁS> hdm H$mo ñQ>moa H$aZo `mo½` Zht h¡, 
___________ _| nmE OmVo h¢ &   

 (a) dëHo$ZmBqµOJ em°n 
 (b) ãb¡H$pñ_W Ho$ \$mCÝS´>r ~obmoµO 
 (c) _erZ em°n 
 (d) dopëS>¨J em°n  
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(ii) Name the type of personality disorder which is characterized by lack 
of interest in social relationships, tending to be distant, detached 
and indifferent.   

 (a) Avoidant  (b) Schizoid  
 (c) Antisocial (d) Paranoid  

 (iii) In filtering of data, the sorting rearranges the range of cell, but 
filtering only hides _________ temporarily.  

 (a) Unwanted rows/columns  
 (b) Auto filter  
 (c) Formula bar  
 (d) Alignment  

(iv) The main work area to create or modify individual slides in 
OpenOffice Impress Window is called __________.  

 (a) Presentation  (b) Workbook  
 (c) Work place (d) Name box  

(v) The business people who can detect and sense the availability of 
business opportunities in any given scenario are called _________.  

(vi) A person who explores business opportunities that have a positive 
impact on society is called _________.  

 (a) IT entrepreneur  
 (b) Technical entrepreneur  
 (c) Industrial entrepreneur  
 (d) Social entrepreneur  

2. Answer any 5 out of the given 7 questions.  5 1=5

(i) A machine which converts power (using an electric motor, diesel or 
gasoline engine, etc.) into potential energy, stored in pressurized air, 
is called ___________.  

(ii) A type of antique air compressor, which is unable to store 
pressurized air, may be found in __________.   

 (a) Vulcanizing shop  
 (b) s  
 (c) Machine shop  
 (d) Welding shop  
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(iii) Am°Q>mo_¡{Q>H$ H$ma dm°ea _| H$ma dm°qeJ H$ma H$mo ßboQ>\
___________ Ho$ à`moJ go {H$`m OmVm h¡ &   

 (a) {b S> gm~wZ Ho$ dmQ>a \$m°_© 
 (b) {S>Q>O]Q> nmCS>a Ho$ > ê$n 
 (c) gmon Ho$H$  
 (d) nr.EM. Ý ỳQ´>b e¡åny ñàoS> \$mo_ Ho$ ê$n _| 

(iv) Am°Q>mo_¡{Q>H$ Bbo {ZH$ àr-goQ> Q>mBn Q>m`a BZâboQ>a _| ___________ Ho$ gmW Q>m`a 
àoea g¡Q> H$aZo Am¡a {Z`ÝÌU H$aZo Ho$ {bE _mBH«$moH§$Q́>moba-AmYm[aV {gñQ>_ h¡ &  

 (a) {S>{OQ>b ~¡H${bQ> {S>ñßbo (b) _¡ZwAb {S>ñßbo 

 (c) hmB{~«S> {S>ñßbo (d) _¡Ho${ZH$b {S>ñßbo 

(v) oñQ>a, g¡ÝS>ãbmñQ, ___________ Ho$ {bE 
{S>µOmBZ {H$`m J`m h¡ &   

(vi) ___________ na bJo hþE g|ga Ho$ à`moJ go Q>m`a {Z_m©Vm Q>m`a H$m ñQ>¡{Q>H$ ~¡boÝg 
ZmnVo h¢ &   

 (a) {nN>bo n{h ò (b) AJbo n{h ò 
 (c) ìhrb h~ (d) pñnÝS>b Egoå~br 

(vii) S>m`Z¡{_H$ ~¡boÝgg© Z Ho$db {H$gr Ag§VwbZ Ho$ ñWmZ H$m {ZYm©aU H$aVo h¢, bo{H$Z 
H$mC§Q>a doQ> H$s gQ>rH$ _mÌm H$mo ^r B§{JV (ßdm°BÝQ> AmCQ>) H$aVo h¢, {Ogo 
____________    

 (a) Ag§VwbZ ghr H$aZo 

 (b) Ag§VwbZ H$mo H$_ H$aZo 
 (c)  

 (d) g§VwbZ ghr H$aZo 

3. {XE JE 7 àíZm| _| go {H$Ýht 6 àíZm| Ho$ CÎma Xr{OE &  6 1=6

(i) gm_mÝ`V: nd©Vr` _moQ>a _mJ© na MbZo dmbo _moQ>a dmhZm| Ho$ ñQ>r`[aJ̈ {gñQ>_ _|  
___________ _| gwYma bmZo Ho$ {bE ZH$mamË_H$ H¡$å~a {X`m OmVm h¡ &   

 (a) â ỳb BH$moZmo_r (b) ~«oH$ Ho$ à^md 

 (c) gñn|eZ {gñQ>_ (d) H$m°aZ[äJ na\$m°a_|g  
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(iii) Car washing in automatic car washer is done by parking the car on 
the platform and using __________. 

 (a) Liquid soap in the form of water  

 (b) Detergent powder in liquid form  

 (c) Soap cake  

 (d) pH neutral shampoo spread in the foam form  

(iv) Automatic electronic pre-set type tyre inflator has 
microcontroller-based system for setting and regulating tyre 
pressure with ___________.  

 (a) Digital backlit display  (b) Manual display  

 (c) Hybrid display (d) Mechanical display   

(v) Spark plug cleaner and tester is designed to sandblast, clean and 
make ___________.   

(vi) Tyre manufacturers measure static balance of the tyre by the use of 
a sensor mounted to the __________.  

 (a) Rear wheel  (b) Front wheel  

 (c) Wheel hub (d) Spindle assembly  

(vii) Dynamic balancers not only determine the location of any 
imbalance, but also point out the exact amount of counterweight 
that must be added to __________.  

 (a) Correct the imbalance  

 (b) Minimise the imbalance  

 (c) Increase the imbalance  

 (d) Correct the balance  

3. Answer any 6 out of the given 7 questions.  6 1=6

(i) The vehicles, which are generally running on hilly roads, are given 
negative camber to improve _________.  

 (a) Fuel economy (b) Braking effect  

 (c) Suspension system (d) Cornering performance  
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(ii) qH$J{nZ `m ~m°b Ádm°B§Q> ___________ 
h¡ &   

 (a) Q>{ZªJ _| gwYma Ho$ {bE   
 (b) \«$ÝQ> ìhrb H$mo AmJo H$s Amoa Bemam H$aVo ahZo Ho$ {bE  
 (c) ìhrb H$mo ñQ>́oQ> aIZo Ho$ {bE  
 (d) H§$nZ go ~MZo Ho$ {bE  

(iii) na 
Ohm± ò ¢, ___________ H$hVo h¢ &  

(iv) _moQ>a >Vm h¡ Am¡a Bg 
àH$ma dmhZ Ho$ dµOZ H$mo gnmoQ>© H$aVm h¡, Cgo ___________ {gñQ>_ H$hVo h¢ & 

 (a) Q>́mÝg{_eZ (b) ñQ>r`[a¨J 
 (c) gñn|eZ (d) M¡{gg 

(v) ~mE± Am¡a XmE± n{h`m| Ho$ {dnarV {XemAm| _| D$na Am¡a ZrMo XmobZ (Amo{gboeZ), 
H$mo ___________ H$hVo h¢ &  

(vi) gñn|eZ {gñQ>_ H$s pñà¨J ñQ>rb am°S>, Omo {H$ {Q²>d>pñQ>J̈ H$mo ao{OñQ> H$aZo Ho$ {bE 
AnZr Q>m°g©Zb Bb¡pñQ>{gQ>r H$m à`moJ H$aVr h¡, Cgo ___________ H$hVo h¢ &   

 (a) H$m°Bb pñà¨J (b) amoS> pñà¨J 
 (c) Q>m°g©Z ~ma pñà¨J (d) ñQ´>Q> 

(vii) _¡Ho${ZH$b em°H$ EãµOm~©a H$m EH$ qbH$ \«o$_ go O  O~{H$ Xÿgam qbH$ 
___________ Ho$ gmW {\  hmoVm h¡ &   

 (a) ñQ>r`[a¨J am°S> (b) S´>m°n Am_© 
 (c) H«$m°g _oå~a (d)  

4. {XE JE 6 àíZm| _| go {H$Ýht 5 àíZm| Ho$ CÎma Xr{OE &  5 1=5

(i) àm¡noba emâQ S>m`Z¡{_H$br g§Vw{bV hmoVm h¡; H$^r-H$^r ___________ g§VwbZ Ho$ 
CÔoí` go Q>çy~ Ho$ ~mha EH$ ~¡b|g doQ> H$mo doëS> {H$`m OmVm h¡ &   

 (a) S>m`Z¡{_H$ (b) ñQ>¡{Q>H$ 
 (c) gmBS>do (d) d{Q>©H$b 
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(ii) One of the purposes of giving an inward inclination to kingpin or 
ball joint axis is to __________.   

 (a) improve turning  
 (b) keep the front wheels pointing forward 
 (c) keep the wheel straight  
 (d) avoid vibration  

(iii) The distance between the steering axis and the axis of road wheel, at 
the point where they intersect the road surface is known as 
_________.  

(iv) A system of a motor vehicle, that connects the vehicle body and 
wheels and thus supports the weight of the vehicle, is called 
__________ system.   

 (a) Transmission  (b) Steering  
 (c) Suspension (d) Chassis  

(v) The up and down oscillation in opposite directions of the left and 
right wheels, causing the wheels to skip over the road surface, is 
called _________.   

(vi) A spring steel rod of suspension system, that uses its torsional 
elasticity to resist twisting, is called __________.  

 (a) Coil spring  (b) Road spring  
 (c) Torsion bar spring (d) Strut  

(vii) One link of mechanical shock absorber is connected to the frame 
whereas the other link is fixed to _________.   

 (a) Steering rod  (b) Drop arm  
 (c) Cross member (d) Axle  

4. Answer any 5 out of the given 6 questions.  5 1=5

(i) The propeller shaft is dynamically balanced; sometimes a balance 
weight is welded outside the tube for the purpose of balancing 
__________.  

  (a) Dynamically  (b) Statically  
 (c) Sideways (d) Vertically  
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(ii) EH$ ỳ{Zdg©b Ádm° oVm h¡ ?    
 (a) PwH$md H$mo ~XbZo 
 (b) ~Jb _| PwH$md 
 (c) EH$ H$moU na Q>m°H©$ H$mo ñWmZm§V[aV H$aZo Ho$ {bE  
 (d) bå~mB© ~XbZo Ho$ {bE 

(iii) H«$m°g `m ñnmBS>a Q>mBn do[aE~b {dbmo{gQ>r Ádm°B§Q> {Z_m©U _| gab h¡ Am¡a 
___________ Ho$ D$na Am¡a ZrMo H$s J{V Ho$ N>moQ>o H$moUm| (Am_Vm¡a na 20 H$moU 
VH$) na C{MV Hw$eb hmoVr h¡ &   

(iv) M¡Z {H$ñ_ H$s \$mBZb S>́mBd ___________ _| à ẁº$ hmoVr h¡ &   
 (a)  (b) _moQ>a gmB{H$b 
 (c) Q´>H$ (d) H$ma 

(v) {S>\«|${e`b H$m H$m`© {b{IE & 

(vi) W«r Q>©a âbmoqQ>J àH$ ___________ Ho$ ~rM EH$ 
qgJb {~`[aJ̈ {\$Q> hmoVr h¡ Am¡a ìhrb grYo emâQ> na {\$Q> {H$`m OmVm h¡ & 

 (a)  
 (b)  h~ 
 (c)  
 (d)  

5. {XE JE 6 àíZm| _| go {H$Ýht 5 àíZm| Ho$ CÎma Xr{OE &  5 1=5

(i) ñQ>r`[a¨J Am_© H$m ìhrb~og go gmW [aboeZ aIVo hþE {S>µOmBZ H$aZo go 
___________ {_bVr h¡ &   

 (a) ñQ>o{~{bQ>r 
 (b) H$å~mBÝS> E§Jb 
 (c) àË òH$ n{h ò H$s C{MV Q>{ZªJ 
 (d) C{MV Ho$ñQ>a 
(ii) H$Zd|eZb 

____________ _| J{V gw{ZpíMV H$aVm h¡ & 
 (a) hmB© J«mCÝS> (b) hm°[aOm|Q>b ßboZ 
 (c) CWb-nwWb _mJ© (d)  
(iii) dmoëQ>oO aoJwboQ>a H$m H$m_ H$aZo H$m {gÕmÝV ___________ h¡ &   
 (a) {Q>[ab (TIRRIL)  
 (b) âboq_J Ho$ XmE± hmW H$m {Z`_ 
 (c) âboq_J Ho$ ~mE± hmW H$m {Z`_ 
 (d) Amo_ H$m {Z`_ 
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(ii) What is the purpose of a universal joint ? 
 (a) To change inclination  
 (b) To bend sideways 
 (c) To transfer torque at an angle 
 (d) To change length  

(iii) The cross or spider type of variable velocity joint is simple in 
construction and reasonably efficient at small angles (generally up 
to 20  angle) of up and down movement of __________.   

(iv) The chain type of final drive is employed in __________. 
  (a) Tractors  (b) Motor-cycles 
 (c) Trucks (d) Cars  

(v) Write the function of Differential.  

(vi) In three-quarter floating type of rear live axles, a single bearing is 
installed between the ___________ and the wheel is fitted directly to 
the shaft.  

 (a) Axle housing and axle shaft  
 (b) Axle shaft and wheel hub  
 (c) Axle cover and outer shaft  
 (d) Axle housing and wheel hub  

5. Answer any 5 out of the given 6 questions.  5 1=5

(i) The design of steering arm in relation to the wheelbase of the car 
provides __________.  

 (a) stability  
 (b) combined angle  
 (c) proper turning of each wheel  
 (d) proper caster  

(ii) In conventional rigid axle suspension, the main axle beam ensures 
the movement of stub axle in the ___________ only.  

  (a) High ground  (b) Horizontal plane 
 (c) Upheaval road (d) Hilly terrain  

(iii) The working principle of voltage regulator is __________.  
 (a) TIRRIL  
 (b) Fle -hand rule  
 (c) Fle -hand rule  
 (d)  
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(iv)  µâ ỳb BÝOo {S>brdar {gñQ>_ H$m CÔoí` 
___________ _| ghr d gQ>rH$ _mÌm _| â ỳb BÝOo    

(v) ga Q>́r_ _| pñWV hmoVm h¡ 
-

___________ h¡ &   

(vi) ~¡Q>ar Ho$ AmodaMm{OªJ \$mëQ> Ho$ H$maUm| _| go ___________ EH$ H$maU h¡ & 
 (a) H«¡$H$ H$ÝQ>oZa (b) hmB© Q>oånaoMa 
 (c) bmo Q>oånaoMa (d) XmofnyU© g|ga 

6. {XE JE 6 àíZm| _| go {H$Ýht 5 àíZm| Ho$ CÎma Xr{OE &  5 1=5

(i) br\$ pñàJ̈ Ho$ àË`oH$ br\$ Ho$ H$adoMa H$mo {Zn  H$hVo h¢ & br\$ pñà¨J Ho$ 
AmodaAm°b H$adoMa H$mo ___________ H$hVo h¢ &   

(ii) bZ©a S>́mBqdJ bmBg|g AñWm`r h¡ Am¡a BgH$s d¡YVm Ho$db __________ VH$ H$s 
hmoVr h¡ &   

 (a) EH$ df© (b) VrZ _hrZo 
 (c) N>h _hrZo (d) Xmo df© 

(iii) _moQ>a dmhZ A{Y{Z`_ Ho$ àmdYmZ Ho$ A§VJ©V, dmhZ Ho$ n§OrH$aU H$mo V^r d¡Y 
_mZm OmVm h¡, O~ dmhZ Ho$ nmg d¡Y ____________ hmo &   

 (a) nm°ë ỳeZ à_mU-nÌ (b) ~r_m à_mU-nÌ 
 (c) n§OrH$aU Zå~a (d) {\$Q>Zog à_mU-nÌ 

(iv)  ____________ h¡ &   
 (a) EH$ µH$mZyZr AnamY Zht  (b) EH$ µH$mZyZr AnamY 
 (c) d¡H$pënH$ (d) A{Zdm ©̀ Zht 

(v) W«r-do H¡$Q>o{b{Q>H$ H$ÝdQ>©a g~go AmXe© àH$ma H$m H¡$Q>o{b{Q>H$ H$Ý
Z Ho$db CO Am¡a HC ~pëH$ NOx H$mo ^r ___________ _| n[ad{V©V H$aVm h¡ &   

 (a) µJ¡a-àXÿfUH$mar nXmW©  
 (b) boS> 
 (c) nmZr 
 (d) ñ_moH$ 

(vi) hdm _| {H$gr ^r àH$ma Ho$ nXmW©  àmH¥${VH$ `m _mZdr` òmoVm| go, J¡gm| Ho$ àdmh 
go, Vab ~y±Xm| `m R>mog H$Um| H$mo ___________ H$hm OmVm h¡ &   
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(iv) The purpose of fuel delivery system in electronic fuel injection 
system, is to inject the correct and precise amount of fuel in the 
___________.   

(v) The oxygen sensor of electronic control system is positioned in the 
exhaust stream and tasked with measuring the make-up of the 
exhaust whether it is running __________.   

(vi) One of the causes of the fault of overcharging in battery is 
__________. 

  (a) Cracked container  (b) High temperature 
 (c) Low temperature (d) Faulty sensor  

6. Answer any 5 out of the given 6 questions.  5 1=5

(i) The curvature 
curvature of the leaf spring is called __________.   

(ii) Learner  driving license is temporary and valid up to _________ 
only.  

  (a) one year  (b) three months 
 (c) six months (d) two years  

(iii) Under the provision of Motor Vehicles Act, the registration of vehicle 
is treated as valid only if the vehicle has valid _________.  

 (a) Certificate of pollution   (b) Certificate of insurance  
 (c) Registration number   (d) Certificate of fitness  

(iv) The violation of mandatory road signs is __________.  
  (a) Not a legal offence (b) A legal offence 
 (c) Optional (d) Not compulsory  

(v) The three-way catalytic converter is the most ideal type of catalytic 
converter since it can convert not only CO and HC but also NOx into 
__________.  

 (a) Non-polluting substances  
 (b) Lead  
 (c) Water  
 (d) Smoke  

(vi) Any kind of substance released into the air from natural or human 
sources, flow of gases, liquid droplets or solid particles, are called 
___________.   
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IÊS> I $ 
({df`naH$ àíZ)  (30 A§H$)

5 3 
20  30    3 2=6
7. emar[aH$ àoaUm ({\${O`mobm°{OH$b _mo{Q>doeZ) H$mo n[a^m{fV H$s{OE & 

8. {H$Ýht Xmo H$V©ì`{Zð>m  ~w{Z`mXr ì`{º$Ëd H$s {deofVmE± {b{IE & 
9. H$ÝS>reZb \$m°_}qQ>J Ho$ H$moB© Xmo _hÎd {b{IE &  
10. CÚ_erbVm H$s H$moB© Xmo {deofVmE± {b{IE & 

11. _{hbm CÚ_r  H$s H$moB© Xmo {deofVmE± {b{IE &  

5 3 20  30   3 2=6
12. ìhrb ~¡bopÝg̈J Ho$ H$moB© VrZ \$m`Xo {b{IE & 
13. H$å~mBÝS> E§Jb H$mo g§jon _| g_PmBE & 
14. H$m°Bb pñà¨J H$s {H$Ýht VrZ {deofVmAm| H$mo {b{IE & 
15. ỳ{Zdg©b Ádm°B§Q> Ho$ Xmo H$m`© {b{IE & 
16. n[adhZ {d^mJ Ûmam _moQ>a dmhZ Ho$ n§OrH$aU H$s à{H«$`m g§{jßV _| {b{IE & 

3 2 30  50   2 3=6
17.   

18. H$Q>AmCQ> [abo H$m EH$ ñdÀN> dm`[aJ̈ g{H©$Q> ~ZmBE Am¡a BZHo$ H$ånmoZoÝQ> H$mo bo~b  
H$s{OE & 

19. Sw>ßbrHo$Q> bmBg|g àmá H$aZo Ho$ {bE Amdí`H$ {d{^Þ XñVmdoµOm| Ho$ Zm_ {b{IE & 

5 3 50  80   3 4=12
20. n{h`m g§VwbZ (ìhrb ~¡bopÝg¨J) H$s à{H«$`m/ìhrb ~¡bopÝg̈J _erZ H$s H$m ©̀{d{Y {b{IE & 

21. gb_mZ EH$ Am°Q>mo_mo~mBb dH©$em°n _| ~Vm¡a _¡Ho${ZH$ H$m_ H$a ahm h¡ & dh hmS>© ñQ>r`[äJ
{S>\  Xmof Ho$ {d{^Þ g§^m{dV 
H$maUm| H$s Om±M Am¡a CZHo$ CnMma H$s gbmh Xr{OE & 

22. ñà§J doQ> Ho$ {d{^Þ Amo{gboeZ Ho$ Zm_ {b{IE Ed§ CZ_| go àË òH$ Ho$ ~mao _| {b{IE &
23. H$m dJuH$aU {b{IE & \w$b âbmoqQ>J Q>mBn Ho$ [a`a bmBd 

ì`m»`m H$s{OE & 

24. _ëQ>r ßdm°B§Q> â ỳb B§Oo  (MPFI) {gñQ>_ H$s H$m ©̀{d{Y H$s ì`m»`m H$s{OE &  
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Section B  

                                            (Subjective Type Questions)                        (30 Marks)

Answer any 3 questions out of the given 5 questions on employability skills. 
Answer each question in 20  30 words.  3 2=6

7. Define Physiological motivation.  

8. Write any two features of 

9. Write any two importances of conditional formating.  

10. Write any two characteristics of entrepreneurship.  

11. Write any two characteristics .  

Answer any 3 out of the given 5 questions in 20  30 words each.  3 2=6

12. Write any three advantages of wheel balancing.  

13. Briefly explain Combined Angle.   

14. Write any three characteristics of coil spring.  

15. Write two functions of the universal joint.  

16. Write the procedure of registration of a vehicle by the Transport 
Department in brief.  

Answer any 2 out of the given 3 questions in 30  50 words each.  2 3=6

17. Write any three functions of rear axle.  

18. Draw a neat wiring circuit of a cutout relay and label its components. 

19. Name the various documents required to get a duplicate licence.  

Answer any 3 out of the given 5 questions in 50  80 words each.  3 4=12

20. Write the procedure of Wheel Balancing/Working of Wheel Balancing 
Machine.  

21. Salman is working as a mechanic in an automobile workshop. He receives 
a car for repair, with the 
various probable causes of the defect with their remedies.  

22. Name the various oscillations of sprung weight and write about each one 
of them.  

23. Write the classification of rear live axles. Explain Full floating type of rear 
live axles.  

24. Explain the working of the Multi Point Fuel Injection (MPFI) system.  


